MAT 125 Due: Monday, 2019-04-29

Homework 32: 11.2 slope fields

11.2 # 9, 14, 17. (Use the slope fields on this handout.)
Additional problems:

(1) Use Mathematica to draw three plots on the range —27 < z < 27:
(a) a slope field for dy/dz = sinx (problem 2 from last homework).
(b) a graph of the particular solution for y(7) = 2.
(c) the solution superimposed on the slope field.

(2) Sketch, by hand, the slope field for 4/ = x — y on the range —2 < z,y < 2. Include
slopes at (0,0), (1,2), (—-1,2), (=1,—2), and (2,—1).
(3) (a) Plot the slope field for ¢/ =y — 2% on the range —5 < z < 5 and —4 <y < 10.
(b) Superimpose on the slope field two different solutions: y = 2% + 2z + 2 and
y = x% + 22 + 2 — 2€%.
See, a differential equation can have two very different functions as solutions!

Exe‘rcis‘e9‘.

4L i
~—— 777717111 T I A B I A
N~——-/777/717111 J2N N R Y B B |
N\N~——-/7771711 JAN A B B B |
\\N~——~/7/77/11 A Y R R B |
\\NN~——~//77/1 VAN A B R B |

2 \N\N\\NN~——~~/// V2R A A Y B R B B | A
A\ A\ \\N~——~r,/ V2RV B B A B B |
VAV A\ \\N~——rr/ VARV A A B A |
VAV AV AWANNNNSN—— VA2 AN A A B B |
VNN ANNNNNSNS~S~S——rr /777770011111
VNN NANNNNNSNS—cF+ V7707000011

0 L B S S S e 11—
VAN VAN NNNNNNSNS—— V7770011
L T W Y O W W O W N N N S A A AV A A Y A |
VAV VAV VNN NANNNNNNS~S—— VYV /7 /7]
| YA W W W W W W W N N\NN~——-/7/77/11
VAV VYV VWAV NNANNSNNNSNS—— 7Y

2 = W T R W R A U W W U W U O N N N N :
L T T Y T T T W S O W N O O N N N P
1 T T O O O S O O S S S S N N N N N N
| Y Y L Y W W O O W W VA AVANANNSNS~S——
| Y Y T W W O O W W VAV AVANNNSN S ——~
| T Y T W W T W O W | L Y W W W O R NI N

St R T L VA WO A T S O O O W L W T O O W R RN -
-4 -2 0 2 4



MAT 125

— -/
— -/
— -/
— -/
— -/
—_— -7/
— -/
— -/
— -/
— -/
—_— -7/

S S - — — —
S S s - — —
S S s - - — —
S S - — — —
S S - — — —
S S s = — — —
S S s - — —
S S s - - — —
S s - - — —
S S - — — —

S S s = — — —

— -/
— -/
— -/
— -/
— -7/
— -/
— -/
— -/
— -/
— 7/
— -/
— -/

NN N N N N N N N N NN TN NNNNNNNSNNYNNYNNN

P i i g g g A O i i g i i

VAR AR AV A AV AV IR AV Ay ey AV A GV Ay Ay AN SN AV Ay ey ey ey ard

S S S S/

VAV AV AV AV AV SV SV SV SV SN SV AN GV AV AV SV AV SV SV SV SV SV v 4

VAV AV AV AV AV SV SV SV SV SN SV AN GV AV AV SV AV SV SV SV SV SV v 4

VAR AR AV A AV AV IR AV Ay ey AV A GV Ay Ay AN SN AV Ay ey ey ey ard

P i i g g g A O i i g i i

NN N N N N N N N N NN TN NNNNNNNSNNYNNYNNN

S S s - - — —
S s - - — —
S S - — — —
S S - — — —
S S = — — —
S S s - - — —
S S s - - — —
S S - — — —
S S - — — —
S S s — — —
S s - - — —

S S — — —

1

Pro'blem 14.

. . . _
G N

-2

-4



